Puzzle 14004 - Saturday, 04 February, 2017 - Difficulty 3

16 7 1 7o O 1 | 1|24
516|148 94413 |27
% i :l;l’””fff:::,: é?::::fff::,} ‘1’6111’1’,1::} ’::ii:,
734231 ]|5(6]|]4)8]9
i : 3 ’1’ 1"" :::,:’ ’1’411’ —F f:ff,‘ ’7’,: T
4191837 |2]|56 |1
;é’:j ,iiiiij: é’jii; ’2’611’ ,:i:j:’{’zf: — i’g’””ffffff,
1 /81217 |4[3[9,5)|6
1’%111’“ ;: H ’1’1”" :1’2’::: — ‘8’11117
3|46 (92,5718
% ,iiiiii: “1’3;’,11 ,iiiii’,} T 1 ’diii: : ,iiiiii‘
9|57 1611 /|8124]|3
N R N
2719146 118135
’1’6 ’’’’’’’’’’’’’’’’ ] ’diii ,’,’,’,’,’,’1’:2’2’"’ e
811|453 [7]6|92
éf - y ’7’ EEEEEEEEES ’: ’{é’: o e SEEEEe—
6 3)5[2]8 91|74

Copyright (c) www.dailykillersudoku.com



